
 

   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 



  

THEOREM 8.14  

If a trapezoid is isosceles, then each  

pair of base angles is _______________.  

∠𝐴 ≅ ∠         , ∠        ≅ ∠𝐷 
 

THEOREM 8.15  

If a trapezoid has a pair of congruent ________________, 

then it is an isosceles trapezoid.  

ABCD is an ___________________________. 

 

THEOREM 8.16 

A trapezoid is isosceles if and only if its diagonals are 

_________________________. 

ABCD is isosceles if and only if ______ ≅ _____. 

 

 

Example 1: Using Properties of Isosceles Trapezoids  

WXYZ is an isosceles trapezoid.  

Find 𝑚∠𝑋, 𝑚∠𝑌, 𝑎𝑛𝑑 𝑚∠𝑍.  

 

Solution  
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THEOREM 8.17: MIDSEGMENT THEOREM FOR TRAPEZOIDS 

The midsegment of a trapezoid is ______________ to each  

base and its length is one half the sum of the lengths of the bases. 

  

 

√ Find the value of x.  

  

 

 

 

 

 

 

 

THEOREM 8.18  

If a quadrilateral is a kite, then its diagonals 

are ______________________. 

________ ⊥ ________ 

 

THEOREM 8.19 

If a quadrilateral is a kite, then exactly one pair of  

oppposite angles are ___________________. 

𝐼𝑓 𝐵𝐶̅̅ ̅̅ ≅ 𝐵𝐴̅̅ ̅̅ , 𝑡ℎ𝑒𝑛 ∠𝐴         ∠𝐶 𝑎𝑛𝑑 ∠𝐵         ∠𝐷 

 

 

Example 2: Angles of a Kite  

Find 𝑚∠𝑆 𝑎𝑛𝑑 𝑚∠𝑈.   

Solution  

STUV is a kite, so ∠𝑆 ≅ ∠          and  

𝑚∠𝑆 = 𝑚∠ 

 



√ Find 𝑚∠𝑋 𝑎𝑛𝑑 𝑚∠𝑍. 

  

 

 

 

 

 

 


